2R R

6.1 k2 mEFR Y

AP 2k RAFEE A ST o ApR k2 RS T 6 el

TP B6-1-1~6-1-3°K F FdF R F A R LB~ ok 2 IR EAC R B
(= )~(=)-

% 6-1 k3 F4F142p wik

5 P EIEEEE e D)
BN EE
1 |B % U A% » 0.4mx0.5m m | 1172 gé :: :;;(1)2 gi :i —33(1)2
2 | UAlE > 0.6mx0.5m m 56 W5-1%,£=12m » W5-1.4 £ =44m
3 (B U A& > 0.6mx0.8m m 543 W62 £ =283m » W7 £ =260m
4 |Fef SAE A > 1.0mx0.4m m 417 Rw\;f;:; 22732?1 ,’ I({;;I,Ezﬁ?f :az)im
A(
5 |4 0 1.3mx1.3m m | atg [ BLAE29Im: BLLLS125m
) 7/% 2 A 3tHI1~H9
6 |5 » 2.5mx13m N %{%44‘ X 4133.?:,@15 =290m » B4’ £ =204m
My % 4 3VH10~H15 ~ H16 ~ H17 ~ H18 ~ H19
6.1 [#imE i1 (k1) Al B3faid i £1 (5 10k1)
7 |43 > 1.8mx1.8m $¢'m 25 B5
RCP > ¢=0.6m L m | o122 P1~P2 ~ P4~P13
9 |RCP: ¢=09m N m 12 P3
10 [#-k# > 0.6mx0.6mx0.7m T 21 T1~TI12 » T15~T23
11 |#-k# 5 0.8mx0.8mx1m A 13 T13 ~ T14 ~ T24~T34
12 &k 5 0.8mx0.8m*x2.0m J 1 T35
13 [#-k2 > 0.8mx0.8mx2.5m B 1 T36
14. 1|8 -k # > Imxlmx]. Tm o3 2 M1-M2
14.2| & -k # > Imxlmx1. 8m o3 2 M3-M4
14. 318 k% > Imx1mx]. 6m Jis 2 M5~M6
14. 418 -k > Imx1mx2. 1m Jis 2 M7~M8
14.5| 8-k # > Imxlmx]. 9m o3 1 M9
15 [®m# > 3.0mx1.5mx4.0m s 1 T37
—~fE2 1A
1 %%#%;ﬁi 14,060 XM

m
1RW1"’RW3?;%’FEJ}‘/§-%‘)A{ ,"/_i'z“a H}'? ’31’7 1-‘1—/1! /E:%__]_% J\‘H ;g-ﬂ F; /;_Ly? %)\ ’Fﬂ/‘—‘l-' ’ Ij}ri

13




BRI R T e B AP M ROR R SAT @R RO H 1 TE B iR K
2HAZFRRHRFIFEF BB IRMPFEAEERFL B ERR PSR
FEE R AR B §ﬁ]‘ﬁoﬂ BEHEI o

ﬂ¢ﬁﬁi#ﬁ’%ﬁgﬁéﬁ%%aiﬁaﬂwlﬁa%iﬁz
2 g% R R pAGRRE FE R R &
RERAF2ZRIZTE  FLLTHFL - A F R RFNEE - B9
FpE g R AITREE A 2 B A BRI R BERTREF LA
2 AP MR FIE AR &%r¢i%%#%%$J%zya%gypg
L 2P ¥ 3
P UERPIES LT B2 g R E oAt PR P HREIR
L

fRAL R R R LRI £ 2 SR -

St

1y<

%
AR LR g_éﬁy;&*04mxosnwo&nxo&ng ]

X,“(
(WI~W7)» i & G F B i3l 2% » 8 BT » BT & §20d
X\

ﬁKT%aﬁLmM3ﬁaﬁmmm%@®%myU%%Wi%%£j
AR RGO B d & R A 3T 408 (B4~B502.5mx1.3m~ 1.8m
X1.8m)Ee » TG 44id ~ POAET E N | ITRFE S P oo A PR kA

TR F16-2-1~6-2-33 Kk Bt BB~ 3k kS R BI(- (=) -

(@) "S: F* PE%e 2 B B R LR IER o
(b)755% ¢ Fk* UAj) ~ 4B 475 2 & F o
(colefidn: B % | mE N T2 LR o FHAK 2 WI-WT

14



#oRE 2 Bl~B54id 5 R+ > PI~PI3ZRCP > # R
F R ke #cE /1 370.010% 0.01420 FF > f 2t $20.0120
(d)T3omEV: T § o008 2503
V=(1/n) - R? « Y - (11)

He o V== 3583 (m/s)

n=4% %k

R=A/p k4 22

S= ke B AE » T EREH N2 o
Tiojnd Voo m ol n A R4z e v 2 koK ki 0 f R
At 2B A E roniE 56.10m/s 0 AR A B & >
A12m/sri T o

()X 2P E B L iR T KA YR HEAZVREIREE T

AY

Q'= AV-mmmrmmmemmoemeeees o (12)
Ho Q=i tp _£§i_(cms)‘7‘

A=#75 F(m2) 45 %

V=TI 3575 )

o

(£)di-k B & 4o~ 25%30 3 s SAUKE 0 A F [ 220em e F ik E iE

7 I;*::%P\&L‘_\\ 582 o
/
1
#': J\ K :/‘II/ BV 2 v-J>‘\7 ";{ 2L 7 |Z‘\ﬁ’\']\‘

15



RN o

%062 Pk k2RI E A

T we | = .
BokE S E Quit | =3 | 2 | £5 gifﬁ E}fﬁ ;é ik | kiR | Ak | wad | #P
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Bl Fa ~ Fc ~ Fd 3.097 1.3 1.3 291 235.04 231.95 1.06 | 3.969 | 0.61 0.69 3.148 OK
B2 Fb ~ Fc 1.314 1.3 1.3 125 232.31 231.96 0.28 | 1.941 | 0.53 0.77 1.337 OK
B3 Fa~Fe 6.145 2.5 1.3 290 231.95 230.39 0.23 | 2.639 | 0.94 0.36 6.201 OK
B4 Fa~Fe 6.145 2.5 1.3 204 230.39 227.21 Vf(,'S6 5.138 | 0.48 0.82 6.165 OK
B5 Fa~Fe ~ Ra~Rc ~ G 6.902 1.8 1.8 25 225.5 224(59 336 | 7.347 | 0.53 1.27 7.009 OK
%4 e
s .P Fa~Fe ~ Ra~Rc ~ G 6.902 1.8 1.8 165 224.66 ,\\2:2@.01 1 4.741 0.82 0.98 6.997 OK
a1 v 7
£ Fa~Fe » Ra~Rc - /742
. 14.150 1.8 1.8 550 223}91 217.51 1 5.590 1.41 0.39 14.187 OK
2L 2 G-0O "%y
HIBREET RO FARBIHARIRVHAR 7L
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% ¥
v S 3! s p; " . = "
T R I L T Wl I il o PSP s S
S5 oET Emfoms| m m | PRV | i . m/sec | m m cms 2
m m Yo
Wi 1/2Ra 0.108 0.4 0.5 341 238.51 234.47 1.12 | 1.858 | 0.19 0.31 0.109 OK
W2 1/2Ra 0.108 04 0.5 341 238.51 234.47 1.12 | 1.858 | 0.19 0.31 0.109 OK
W3 1/2Rb 0.082 04 0.5 220 235.59 23431 0.28 1.035 | 0.25 0.25 0.086 OK
W4 1/2Rb 0.082 04 0.5 270 235.59 234.17 0.28 1.035 | 0.25 0.25 0.086 OK
W5-1 1/2Ra 0.108 0.6 0.5 12 234.13 234.03 0.83 | 1.929 | 0.24 0.26 0.203 OK
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W5-2 1/2Ra ~ 1/2Rb 0.189 0.6 0.5 44 234.07 | 233.92 | 034 | 1372 | 03 0.2 0.194 OK

W6 |Ra~1/2Rb~ 12Rc| 0.369 0.6 0.8 283 234.18 | 233.14 | 028 | 1.473 | 0.49 | 031 0.376 OK

W7 1/2Rb ~ 1/2Rc 0.154 0.6 0.8 260 23387 | 233.14 | 028 | 1.208 | 0.28 | 0.52 0.156 OK

RLULERSEF RME O FARSIHARIETHAR -

RCP V-

¥t i Qs | FE | & ’j;f'f"h o ;“f’.‘!" ?5’52 Wk 2 | g (RPRE| B

o -t g oms m m F mrﬁ F &ﬁf@ o m m m/s cms %%

T

P1 1/2 Fa 0.947 ¢=0.6 12 23746 | 28533 |17.75| 025 | 035 | 9.122 | 1.017 OK

P2 Fd 0.549 ¢=0.6 14 236. %\‘234.39 1436 0.2 0.4 | 7.324 | 0.604 OK

P3 1/2 Fa 0.947 $=0.9 12 2}5,279 233.84 |16.25| 022 0.68 | 8.596 | 1.036 OK

P4 1/3 Fe 0.218 ¢=0.6 7.6 ‘Q{?i?4.66 2333 [17.89] 0.12 | 048 | 6.120 | 0.246 OK

P5 1/3 Fe 0.218 ¢=0.6 7.6% " 233.78 232,52 |16.58| 0.12 | 048 | 5892 | 0.237 OK

P6 Fb 0.659 ¢=0.6 9% 233.73 232,61 |11.79| 0.23 | 037 | 7.135 | 0.712 OK

P7 1/3 Fe 0.218 $»=0.6 9.5 233.43 23231 |11.79| 0.13 | 047 | 5209 | 0235 OK

P8 1/5 Fe 0.478 $=0.6 11.2 232.26 232.03 | 2.05| 031 | 029 | 3415 | 0503 OK

P9 1/5 Fe 0.478 ¢=0.6 11.2 232.44 232.01 | 3.84 | 026 | 034 | 4323 | 0.508 OK

P10 1/5 Fe 0.478 ¢=0.6 11.2 231.91 231.82 | 0.8 041 | 0.19 | 2343 | 0.482 OK

P11 1/5 Fe 0.478 ¢=0.6 11.2 231.92 231.83 | 0.8 041 | 0.19 | 2343 | 0.482 OK
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P12 1/5 Fe 0478 ¢ =0.6 11.2 232.12 231.78 3.04 0.27 0.33 | 3.915 0.483 OK
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